PREVIOUS PAPER

NABARD ASSISTANT MANAGER

Test-I: General Awareness

1. Inthe presentconicntol S0CIO-ECONOmic development, the
concept of “mecting the needs of the present withom
campromising the ability of future generntions to mest their
needs” is popularly known as the concept of

Wk.&whwnm 21 Uniform Growah
) Targetdriven Girowth  4) Mo risk-Me growth
51 Social Viability
2 Which ofthe following staterments about ihe agriculiural
sector in the eceonomy of India 1s'are corresi?
w_yu Aericultural growth has reduced povery ol Lhe
peaple locally and, through its extemal effects, also
in many other parts of the country,
Food and nutrition security in the country has
increased substantially.

{C) The arez of cultivation has increased in recent past
23 agricufure has become a full-time emplovment
for the people, which was not so a few years back.

13Only A 23Oniy B 3y COnky C
odh A& B anly SlAllIAB&C

3, “Inrecent years it has been pecognized increasingly that
a large sepment of the mural population i ot of the
reach of the (ormal banking services. Which of the
followlng Is the name of the concept flivated 1o bring
mast of these rural persons in the net of financial and
banking services?

1} Corporste Governance 2

3) Wealth Crestion

) Risk Manapement

d  Aswe sl know, ithe present pattern of agrice [fural growth
has resulted i a wariery of envionmental degradation
of soil, waber, air and bio-diversity, Which of the following
isfare the main practice(s) of the preseit pafiern of
agricultare, which has given birth to such degradation?

y-cég‘“'l' Excess use of chemical inputs in the form of
fertilizers, pestichdes/msecticides and boosters
bandonment of traditional practices bailt over

immneiad Inelusion
d) Credit blonagement

severnl millennia

#Er Continuous flogging of land through multiple
cropping

1) Only A 21 Cnly B 3)30nly C

4} Both A & C only IALB&CT

£ As weall know, the per capita fo6d availability is far
better i the country these days and it has also reduced
our dependence on imports of most of the food com-

[ P T—

modities. Which of the following are the agriculture-
related things for which we are still dependent on imporis

fargely?

(A) Wheat Sugar 48} Edible oils~=47) Pulses
13 Only A & B bath 2) Only C & D bath
3)O0nlyA.CED  _HOnlyB.CED
SHAIA.B,C&ED

B As we all know, migration of people from ose place w
the ather has always been a topic of interest to
ecomoan isns and social sclentiats, Which of the following
rnigrations is called o historical one and is often refermed
az “Mother of AN Migmtions in the World™?

Wﬂlﬂi‘ﬂﬂml migration from Evrope to America

and beyvond

Z) Migration of agricultural Inbour from Bihar and UP 1o
various states in India

31 Migration of Keralites to Gulf couniries

4} Migsatien of Gujaratis 1o USA and UK afier the
cuthreak of plague, commanal riets, and several major
earthquikes in the s

5 None of hese

7. Asper the recant research reports published in papers/
journals, more than half'of all child deaths are associated
with malnutrition. Which ofthe following is'are the major
reasons of malnurition in India?

F[g.} Low birth weight because of poor nutritional status
of the mother

A% High levels of disease caused by poor hygienic
coaditions and polluted waier

A Impreper feeding practices

1} Only A 2} Only B
AlAB&EC 5 Mooe of these

8 The agro processing sector in India has shown a positive
growth in recent past. What is/are the major factors which
hasthave contributed 1o this growth in this secior?

_.i#] There 1% a change i consumption pattern. Food
budget (3 allocated o high-value commesdities like
raw fruits, vegetabiles, Bvesock, ele.

’ﬁ-— Growth in export demands for high-value and
processed food items. Hence moee peopbe ane taking
up that business.

More and more people are migrating to citles and
urban areas where demand for processed food is

3)Only C

high.
1) Qaly A 2)Only B 3)Only
MAIAB&EC  5)None of these



9, The phenomenon of the decline, howsaever initisied or
instigated, occurring in some measures of aggregaie
sconomic activity and causing cascading declines in GDP
and other key measures of economic activity in the terms
of economics, is called

1) terminal growth recession
1) business cycle 4) deflation
5} domino effeet

10 As we all know, the the Govt of India has given much
atiention to improve public health @ the country. Why
is 0 much atténtion given to improve the same, which
in the opinwon of the general public, I8 & personal goal
and should be an individual effon?

{A) Poor public health conditions take economic toll in

.@.ﬂnutnishnmmm it because it waats w0
prevent disenses rather than eat them.,

(C) If the general health of the people ln & country (s

- weak, investors do not wish to invest in that country.
Even toorists do not want to visit the land.

1)Cnly A S Only B 3)OnlyC

NAIAB&C ~ 5) Mone of these

11 The Gowt of India is giving much mportance o the
deve lopment of “Special Economic Lones™ these days,
Which of the following statements isfare TRLUE about
the features of the Special Economic Zones?

J.‘H”E-p:ﬁh.l Ecomomic Zones refer to areas within 2
country where some of the economic laws and
restrictions of the land are relaxed.

(B} Special Economic Zones are being developed to give
an opporiunity to the weaker sections of soeiefy,
who did not have enough opporunities o develop
financially and economically.

(C) In India, the development of Special Econamic
Zomes started way back in 1980 when the first such
project was launched in Kamataka,

by A 2)Only B 3} Only C

41ALA BEC 5)Mons of these

12. Indai has several major dams almost 1a all stafes. Which
af the Following was/'were the reasens for which these
dams were built?

Flaod control and water supply
{#) Relocating the population
?ﬁ Power generation
(P4 Trrigation facilitics
1)OnlyA&B 2)OnlyC&D _A3OniyA,C&D
§10nlvB.C&D 5) MNone of these
i3, Which of the following is not a major concept frequently
refeered im the economic literamre of Dr Amartya Sen,
the Mabel Prize-winning economist?

13 Positive freedom ethics

5) Capability to function  4) Negative freedam

5) Welfars economics

14. Which of the following statements 18/are correct aboirt
the Pradhan Mantri Gram Sadak Yojsna?
. The Yojana was launched in the vear 1935 with the
calm 10 connect each and every village with the
National Highway.

D{i The Yajana was to be completed by the year 2000,
But only 0% job hes been done so far.

The funds for the Yojuna were arranged by & loan

from the Asian Development Bank, which sanctioned

an amount of Rs 1,20,000 lakh crore thad time, India

hos availed 5% of that amount but the job done is

only 60%.
1) Only A 2)Only B 3)Only C
§iAIlA BandC one of these
15, Which amongst the arganizations make major
credit palicies for the Regional Rural Banks (RREs)?
et HABARD 1) Asian Development Bank
%) World Bank 4] State Bank of India
5) None of thess

16, As we all knorw, the Govi of Indiz has launched many
schemes for the welfare of the workers from unorganized
sectors, As per recent estimates, about what por cent of
all workforce in India is engaged in informal or
unorgunised sector?

1}30% _2)90% 3)70% d4)Bl%e  5)60%
17, 'Which of the following is'are true about the Indira Awss
Yojoma of the Gowvt of India? .
LA-The scheme was the sub-scheme of the Jawa* -
Rozgar Yojana (JRY),
~—The scheme was launched 1o provide housing
accommodation to rural people Below Poveny Line

; omly.
fﬁjlﬁmmmmmm#mm is done
in the rame of the female members of the household
in the joint names of the husband and wife.
13 Only A ) Only B 3)Only C
AAlA, Band C 5) None of these
18, Aswe all know, the Gow gives enough emphasis on the
developrent of Small Seale Indusiry (S50 Sector. What
is the robe of the S81 sector in a developing economy like
Imsddia?
A, 551 sector plays an important role in development of
economy 8% around 40 per cent of the GDP comes

from this sector,
H, 551 absorbs surplus labour and helps in equitable
distribution of incaine.
—emefpproximately 35% of wral exports of India comes
fircin S5 Sector.
1) Omly A 2)Only B Oy €

fJAINA, BandC 5) None of these

19. Which of the following r not tue about the National
Rural Emgloyment Guarantee Act (NREGA) T
A, NREGA was enacted first to provide job to rural
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also avall the jobs under it
J‘_E__.fNREGh 18 applicable m all districts of the country
" 0w,
C. NREGA initially provided 100 days' job b now the
number of days has been increased 1o 150,

1) Omly A = Culy B
1) Cnly C 41A0A BandC
51 Nene of these

0. Which of the following is not true sbout National Food
For Work Programme (NFFWTP) of the Govt of India®

#NFFWF was lapnched to prowvide sdditional

resnurces fo the most backward 1530 districts of India.

B. The beneficiary of the MFFWP 15 required fo work
far 5 days a week for at least 10 wesks at a stretch.

C. The beneficiaries of NFFWP ane pald their wages in

1he form of wheat and rice fog their work, The payment

of ration is done to them daily at 6.30 pra or imevediately

after the day's work is ower, which should be latest

by 9.30 pm.
= Only A 230nly B 3)Both B and C
4)Omly C 5)BothAand B

21, Which of the following schemes is'are now the part of
the MNational Rural Employment Guarantes Act
{NREGA]J?

A. Pradhan Mantri Gram Sadak Yojana
ir-ationnl Food For Work Programee
poama Grameen Rozgar Yojana
1 OnkvA 2)OnlyB ardothBand C
djalla, BadC 5) None of these

2 Micro eredit or micro finance (s a novel approach 1o
banking with the poor. In this approach bank credit is
extznded to the poor through

’,_J]EHFHH Groups 2) Anganwadis
4 Credlt Socheties
4) Reserve Bank of India
5) Small Industries Development Bank

23, Which of the following isfare the major problerifs) of

& Indian borrows yoar after vear bur i2 pot
ini & position w clear off his loans.
The size of the loans taken by the Indian farmer is
too large whereas his agricultural output is not lazge
enoagh to pay off his debt.
AL Mozt of the formers arc still tking loans from the
informal spurves, who charge & very high rate of

(mEpregE.
1) Only A 2)Omly B 3 CnlyC
) Only AL B ;]Ml.ﬂ; &

24 The concept of mecro fingnce wis launched in which of
the following countries initlally?

#ahglmﬂesh 2) India
4) Israel 5) 5ri Lanka

3} Egypt

iy T NPl APF REIG BWP P TVRIEN Bh PR SN APERIRREALIENLT e R

agency?

1) Cooperative Society 1| Money|ender

3y Comimercial Banks Regioaal Rural Banks
5) Governiment Agenches

26. The National Bank for Agriculiure and Rural
Development (NABARDY) gets some amount of its funds
from which of the following organizations For its various
schemes? ;

Ao World Bank  (B) Bank of America eriDA
OnlvA 2) Only B 3)Only C
hHallsa BEC Only A & C both

2. The Maiional Bank for Agricaliuvre and Rural
Development {(NABARD) was esfablished in the year
N9 _JZMS82  3)1977 4)1980 5)1975

28 ‘Which of the following statements i5/are TRUE about
the activities of the NABARD?

NABARD has the responsibility 1o inspect RRBs
,ﬁ.ﬂﬁﬂhﬂﬂ maintzins Ressarch and Development
- Fund w0 promote research in agricultisre and miral

developiment.
(C) NABARD is a wing of the Planning Commission of
- India,
1) Only A Only B 1AL B
4)Omly C sSialla,B&C

29, Thie Union Budget for 1995-9% proposed the creation of
RIDF in NABARD, with & corpus of Rs 2000 er. Whal is
the full form of RIDF 7
1} Rural India Decoration Forum
2) Research end Industrial Develepment Forum

=it Rural Infrastructure Development Fund
&) Research nnd Industrial Development Fusd
5} Nome of these

30 Which ofthe following statements aboat the NABARD
ﬁl{l;}ﬂlﬂﬂﬂhmndm!mﬂemphyuimmm:
¢ and a refinance institution,

- ABARD services as a refinance institution for all
kinde of production and investment eredii to
agriculture and cottage and villape industries,

(Cy NABARD accepis short-term deposits from the
public like any other bank to improve its capital base,

1) Oniy A 23 Only B 2 Only C

lyA&B SAIAB&C
31 The head affice of the National Bank for Agriculiure &
Rural Development (NABARD) is located in

1) MewDelhi  2) Hydernbad umbai
4} Luckmow 5) Hone of these

A2 Indiz’s first transgenic crop was ==
1) Sugarcane 2) Bringal — LBt Cation
4) Potato 5) None of these
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o & miajor isese in the mestings of the Workd Trade
Organization (WTO). What was the issue?

[} Use of genetically modified crops

qﬁ-ﬁu«mtmg subsidy 1o agro-producis

3 H-ﬂlmd of deciding cost of erude o1l by OFEC

4) Use lﬂ-fh}drngl:m as allemative foel o future
5y Mene of these
2. Who amongst the following is the winier of the Ramaon
Magsaysmy Award 20087
“?Brhahsh&hluﬂukini.ﬂm
) Dr Amartya Sen 3) Mis Barkha Dt
&) Dr M Anluwalia 5) Mone of theae
35. Which of the following is the organization, which is the
apex body in cooperative sector and deals in
procurement, disribution, expart and impor of selected
agricaliral commoditics?
ANAFED NINABARD
4)EXIMBank  3) Mone of these
35 Mahesh Bhupathi and Sania Mirza won their first Grand
Stam Title together when they defeated their opponenis

3)SIDBI

in the

1) Wimbdedon _aaAustralian Open
3) Davis Cup Final 4) US Open

5) Wightman Cup Finasl

37. Which of the following states in India is at the top in
the list of these who availed credit through Self Help
Ciroups (SHGs)?

1) Andlyra Pradesh  2) Goa
4) West Bengal Fhm]u

1%, Which of the following is the amount Govt of India has
sanctioned w provide relief io farmers so that they may
come out of their debi?

3) Arunachal Pradesh

1)Rs 10,000er  2)Rs20,000cr  3)Rs30,000cr
4) Ra 40,000 cr {one of these

39, Which of the following is/are the goals of the Bharat
Mimman :

w To bring addithonal one crone hectane under assursd

B) Topeovide cooked food to aboar 12 crore children
in their school itselil
A To conswruct 60 lakh additional kowses for the riral

paot.
1) Only A 2) Only B 1) Only ©
SArBathA&C S BothA&LB

400 Az we all know, fload i & major natural calamity in
India. Which of the following statements ivfare woe
sbout the varicus aspects of flood and flood manage-
ment in India?

r#} Qut of a total geographical area of 329 million
hectare, about 40 million hectare is prone 1o Nood.
@ Till 20077, abaut 18 million hectare was provided

ﬂl' n-mhm}:rnmtg :In:nw;g: channels ;md radsing of
platforms.

{C) Since the installation of & Mood forecasting gystem in
2004, no major Noeod has taken place m India.

i B e

1) Only A 2} Only B 3)Only C
ﬂ,ﬁﬂaﬂ'mi:ﬁnnl}' 5) Only B & C Both
41. Which of the following is an casy way of providing eredit
to the farmer community?
isan Crediy Card 2} Indirs Vikas Patra
1) National Saving Certificates
4) Loan aguinst gold 5) None of these

42 India recently test-fired 2 new surface-to-surface missile
icalled

1) Meghavarma  2) Columbus 3} Amariksha
4) Pawan

43, The mnm-n G-20 was erganised in
November2008im
1} Paris JToyo _jAWashington DC
4) London 5) Milan

4, Who amongst the following 1= the author of the book
Herween the Assarsinglions?
1) Danlelle Steel  2) Anita Desai 34 Aravind Adiga
4) Nandan Nilelan: 5) Arundhat) Roy
4% 'Who amongst the following is the winner of the Jawaharlal
Nehru Award for Iniemational Undersianding for the yenr
195857 (The Avward was given in NMovember 2008_)

I} Albert Bayona 2} Mallika Sarabbai
1) Dr Romila Thapar 4% Dr Mohammed El Barad-i

\ m!ﬁ]mmﬂwﬁiﬂﬁﬂl?ﬂhﬂEMi}IMEW
Internateonal Film Festval of India held in December 20087

1} Gosodd Might 2} Alcasa Kusum
3) The Song of the Sparrow __d&Tulpan
5) None of these

47. Who amangst the following s the Union minister for home
affairs at present?
1) Sharad Pawar 2) Lala Prasad Yadav Chidambaram
4) Shivraj Patil 5 Mone of these

48, Shivra] Singh Chauhan ks the new Chief Minister of which
of the following states, where elections were held in
December 20087
1) Uttar Pradesh ) Misoram 3) Delhi

adhya Pradesh 5) None of these
MC Marykom, who won a gold medal for India in an

iribermational event, is basically a

1) Table Tennis player 23 Hoer

1) Badminton player 4) Marathon minner
SyGolier

50. John Key, whote name was in the news is the Prime
Minister of
i) Australia
4} France

2) United Kingdom
51 New Zealand

3) Canada



Test-I1: English

Directions (Q. 51-57): Read the following passage
carefully and apswer the questions given below it. Certain
phrases in the passapé have been printed in bald to help yon
locate them while answerlng soime of the guesthons

Arprone who forms his own opinions and beliefs will fecl that
he owes no respoasibility to the mojority for his conclusions, IF
he is n genuine lower of truth, iThe s inspired by a passion for
seeing things as they are and a detestation of holding ideas
which donot conform to facts, he will be wholly independent of
the acquiesce of thase around him. When he proceeds o apply
his beliefs in the practical eonduct of lle, the position is
differemt. There are then pooad reasons why his attitade should
be lessrigid. The saciety in which he s placed tsan ancient and
compaosite growth, The people from whom he dissents have not
comg by their opinions and instifutions by a process of mere
haphazard, These opinions and eustoms all had their origin in
ceriain real or suppased fitness. They have a certain depth of
root in the lives of a proportion ef the existing generation. Their
fitness for satisfying needs may have misplaced, and theis
congruity with ong another may have come to an end. Thatis
cnly one side of the muth. The most pussionsts propagandist
cannot penetrate o them.

In common language we speak of a generation as
something possessed of a kind of exact unity, with all its pans
and members homogeneous. Yet plainky it is not this, [t iga
whole, but 2 whale in 8 state of constant flux, its factors and
clemerts arc eternally shifting. It is not ong, but many
gencrations. Each of the seven ages of man is neighbour w0
all the rest. The column of the veterans js already sinking o
the last abyss, while the column of the newest recruits is
forming. To its tradition, the tendency and its possibilicies,
only a proportion of each can have nerve enough to grasp
the banaer of a new tnith and endurance 1o bear it along
rugged and untrodden ways,

Then we must remember the subistance of which life is
made. We must consider what an overwhelming
preponderance of the mest persisient energies and most
eoncendrated interests of 8 sociedy nrust be absorbed betweren
miterial cares and the solitide ofthe affections. It is abviausky
unreasanable 1o lose patience and quarrel with one's time
becanse it iz tardy in throwing off it institutions and beliefs,
and slow to achieve the transformation which is the problem
in froni of i, Men and women have o Hve,. The task for most
of us is hard enough to make as well pleased with even sueh
imperfect shelter 25 we fnd in daily use and customs. To
intis on & whale community being made st once o subinit o
the supremacy of new practices and ideas that have ju begun
to acclaim themseives to the most advanced speculative
intelligence of the time. This, even if it were a possible process,
would do much to make life impracticable and to hurry on
social dissolution,

= 'I._,"h':hlllﬂ_ll.l. |.n.:|||“|:;| [ | S S ST | II':"I.EII.IE-.'I- =R NRT LR R SRR B LY
bacause they will
I¥retard the progress 2] lead (o social dissmegration
3} give vitelity to social life
4) make a society 100 AXTOW 1o survive
5) None of these
52 The hard task, sccording to the author, is
{A) change the saciety
{B)eamaliving
{C) chinge according io times
OnlyAand C 2)OnlyBandC  3) Only A snd B
4) Only A 5)Only C
53, The problem, which is discussed in the passage, reflecs
1} the realist attitude of the author
2) the pessimistic views expressed by a group of people
3) a doctrine that explains the role of culture
4) making good use of & genuine lover of tnith
5) None: of these
54, Which of the following best describes the phrase "apply
his beliefs i the practical conduct of life” as used in the
passage’
1} To indoctrinats what he believes
2} To denounce what he believes
3) To preach what is practiced
ﬂ}"_[r-p'mliu what is preached
5) None of thess
55 According to the author, a gencration, which is
heterogencous, should be pereeived as
1) sum total of the paris of the sub-sysiem
21 a whale, which is not a total of the parts
3) a fragmenied group of people
4) individual interlinkages connecied through syncegy
3 Mone of these
5. According o the passage, which of the following is true?
1) Impatience of intellectuals with practical problems is
the source of progress.
) Day-to-day concerns dominate the life of most peaple.
3) Inteliectuals are the leaders of social rransformation.
4) Social change will be slow in the ahsence of effective
leaders.
5 None of thesa
57. Mccording to the passage, from which of the following
o the customs and tradifions originaie?
1} Ignorance of events happening around
2y Leadership prevailing in the comemporary society
3 Social utility of the societal set-up
&) Conflicts of individuals living in society
5) None of these
Diyections (. 54-61): In each of the following questions,
an idicmatic expression and its four possible meanings are
given. Find out the correet menning of idlomatic expression
and mark the number of tlkat meaning as yvour answer in the
answersheets, 1N you do not lnd any eorrect answer, mark 5),
ke ‘None of these”, as your asswer.



6l

N S TR

1) squandering away ) amounts {0

3} incurring 4) taking chance W meet
5] Mone of these

#tand over

1) vindicate 2) postpone 3} enduring
4} support 5} None of these

knocked up

1) get exhausied 2) ddie i an accident
) wanderad about 4} sobd &t an auction
5) None of these

make over

1} prove 2} decipher 3} discover
d) give in charity 5) Mone of thess

warkion

1} so0lve 2} influence 3)excite

4)apply force to 5) None of these
Directions (Q. 63-75): Read each sentence to find out

whether there is any grammatical errorin it The error,
any, will be in one part of ihe senience. The number of that
part is the answer. If there is no ermor the answer & 5).
(Ignore errors of pancuation, i any.)

3. Selling peanuts fon the road is / the only means of

1) 2) 3
carning / in respect of modt of the people.)’ No ermor
4 ]

Her talk was / judged by many / a5 one of the most
1} 2} 3)
important talks / given in the seminary No emmor
4 5
The boy who was guilty with / having stelen the ccll
1) 2)
phene / came aut / with the truth, / Ne ermor
3) 4) )
She is the teacher'whom [ know/'has helped my sonin
1) 2) 3}
the examination. Mo emar
4} )
You canmot demand £ all voor srticles unless you do not
Iy 1) 3)
{give advance notice./ Mo error
4) 5)
Wi inslsted, but neither / Tana nos her assistant [ ane
1) 2)
ready to/ work on Sundsy. No error
3) 1) 5)
There is just not encigh / tdme in my unlt 1o it round [
L §] . |
{alking sbout how we feel’ about each other, / Mo error
3) 4) 3)
Thie act will be pagsed f with & comfortable majority iTall
1) )
f the partisans of / her group favours it. / No error
) 4) 3)

= e SR "4
Tilak. { No emror
/3 mmﬁm‘um cell is opened / by the town police /
thres months agl:jau & precautionarny rni:mrm' No error
3. The -nj:il who was giving / d.':t:a.ikd description nﬁ the
sculpiures 'El ! speaking fuently E‘Eznm { No error
i :hai-rﬁ?wnuld. artenipt / m-::l% the umbrells / :‘ﬂ!bﬂl! her
m:mﬂ.n! ;:Iippcd off / and fell di!m Wo errar

3 4) 3)
75. Ifyou had notreached so qubckly, /we might well/hawe
1) 2) 3)
had & disaster. Mo error
d) 5)

Directions (Q. Té-85): Which of the phirases 1), 2), 3)
and 4) given bebow each sentence should replace the phrase
printed in bold type to make the sentence grammutically
correct? If the sentence is correct as it is, mark 5), le *No
correction reqaired’, as the snswer.

T6. She had created probiems even when she was on raiming
wihile she was still waiting to take full charge ofher duties,

1) she has becn waiting  2) she had been stll

3) she would have still  4) she has still o wait

5) No correction required
T7. The director insisted on his orders being carried out with

the leiter.

1) forthe fetter  2)tothe letter  3) by the letier

4) into the letter  5) No correction required
T8 He admired the speed with which Koti complefed the waork

and appreciating the method adopted by him,

1) appreciatz the method being adopiad

2) appreciated the method adopred

3) appreciate the method of adoption

4) apprecinie the sdopting method

5) Mo correction required
. Unless | get some break, | should mot be able to do any

maore work,

|} shall nod be able 2} should be unable

1) shall mot be unable 4} should not be unable

51 Mo correction requined
¥, Some people havio a habit of wearing thelr heart on their

sheewves,

I} bearing their heari on their slesves.

2} wearing heart on their sleeves.

3) wearing their hearl on slesves.

4} bearing their heari on their sleeve,

%) No correction réqiired,
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guences can not be acoeped.

1) hiad thosough ignorance

2) were thoroughly ignorence

3) hzd thoroughly ignorant

&) were thoroughly ignomnt

§) Mo carrection required
£2. [ had met him after the pariy where he had been given an

ingpiring speech.

1) when he had

2} where he would have

3) in which be was given

#) whers he had

5) Ho comeciion required
8. Because of scientific progress, we expect Lo live better

then our parents have.

1} should expect to live better than our pareat

) expect to live es good ns our panents live

3) expect to live better than our parems did

4} expected to l1ve better than our parents

%) Mo correctron redgiiired
84, [ cannot put up will that nasty fellow,

. 1) put up Zyputa

3) put on with 4) put up in

5) Mo carmection réqulned
B5. Itis useless to run away from every danger; risks must

nil be tiken.

1) mo risks must be

2} amy risk must be

3} although risks must be

4 sorme risks must be

5) No correction needed

Directivas (), 86-20): In each question below, n sentence
wiih four words prinied in bold type is given. These are
numbered a3 1), 2), 3) and 4). One of these four words may be
either wrongly speli or inappropriate in the contexi of the
senience. Find oot the word that s wrongly spelt or
inapproprisie, ifanyg The namber of that word is your snswee
If il the four words are eorrectly spelt and also approprinte
ia the eontext of the sentence, mark §), e “All correct® a2
YO ARTWER.
. Afer severel rounds of discussions the Manager

1) Z)
accented 10 our propoetal. All correct
3) 4) 5)
$7. The indafatipable 22al and fenrlessness with which the
i) 2)
yeouith worked rejoiced me beyond measure. All comrect
L) 4) 3)
B8, Hesliped sway in the night and reached there in the
1) 2) 3)
mornbng. Al correct
4) 5

uir m:ﬂ[ﬂ:llu:n:r wiHsn F“}"LI}E B EISTNEL SN R ORI

1y gy | 3 4]
up her hand, All correct
3}
1, The auther also advoeated fresh vegetable and ruits as
1) 2} 3)
naturel diet of aged peeples, All cormect
4) 5)

Directions: (Q. 91-100): In the following passage there
e blands, each of whikch has been numbe red. Thesenumbers
are printed below the passage and against each, five words
aresugpested, one of which fits the blank appropriately. Find
out the appropriate word in each case.

It is & pity that we do not have good books on insurance
written by Indian suthors 21 to the steady growth of lteratun:
of the subject in ather countries, especially the USA, whose
insurance laws and 92 are very muoch similar to thoss of our
country. And students studving in our colleges and the millions
of insurance employecs appcaring for various insurance
examinations have to depend 93 on baoks written by foreign
authors. As these books mainly deal with the problems of
insurance industry of forcign countries, the 94 of the
insurance scend in India and the various legal 25 and insurance
procedures remains very weak. To 96 the insurance employess
and tnc college students who have opted for 97 courses in
insurance with different aspects of theory and practice of
insurance, we shou'ld have good and 98 rexthooks. The book -
under review writien by VMR Nair himse|f, an expericnced
and 99 expert on insurance law based on leading Indian cases,
will be found very useful by students of insurance sector as

2 100 guide o the principles of insurance,

81, 1) paving 2) cosresponding 3 Tollowing
4} emphasiz: S)correcting

2. 1) process 2} produst 3} notes
4} currency 5} procedures

§3. 1)slightly ) upon 3)still
4)at 5} und]

o, 1) prove ) search 3)application
4) understanding 5) acknow|edge

95 1)law 2) aspects 3) experts
4) books 51 loop

06, 1)equip 2y i 3) decorate
4) promiots 51 load

97. 1)optional 2} expensive 3) tough
4) decp 5) specialized

98 1) authentic 2) voluminoas  3)many
4) prompt 3) shining

95, 1)consuliing  2)qualified 3)rich
&) merchant S)vired

100, 1) learned 2) powerful 3) ready

1) comprehensive 5) prescribed



Test-111: Quantitative Aptitude

Directhons (). 101-105): What should come plaee of
ithe question mark (7) in the following questions 7

101, 37 = (756 = 67)+E04

15165812 Ly AS00T IV EENRE
4y X525 5} Mone of thesa

IR OI+I+333+33 4303 +3353 =7
1)375.06 ) 3559 N31593
4135556 5) MNone of these

103, (73425 - 33267 -22418- 17650} = f| 1025 ="
1) 100 635 2)9T8S N7
)5S0 3) Nane of these

104, 76334221 =7
1)-2287 2)-19304 BT
419304 3) None of these

105, (34,128 - 7396 =7
11080, 1744 2) 10781474 3 10TRITH
4) 10801474 5) Mone of these

Direetions (Qh 106-1100: What should come in place of
the quesiion mark{?}in the following number series 7
106, 15 25 40 130 ?

1500 )5 33490 4)d480  5) Nene of these
107, 155 L) 48 = ?

11125 )45 325 HI4 5 None of thess
106, 124 112 i7s 420 488 9

1) 8568 2) 7140 3572

416150 5) Mome of these
108, 384 361 I M5 e 7

123 2325 3)43

4j24 5) Mone of these

10282 286 30z 7 s
1)366 2j318  3)326  4£)338  5) None of these
Directions (. 111-115): Siudy the following table
carefully and answer the guestions given below,
Anmnmal Income of Varions Individuals over the Years
(Income in T ac Rupees)

Individuals
B A T e T el D ET ¥
2002 | 550 | 320 | 480 | 635 | 6.15 | 350
2008 | 5.65 | 325 | 485 | 655 | 625 | 3.65
2004 | 57 |3.725| 295 [ 7.055 | 625 | 375
2005 | 620 | 4.25 3101 739 715 40
2006 | 6.50 | 4.50 | 520 [ 7.40 | 725 | 425
2007 | 675 | 5.0 | 525 | 748 [ 7285 | 480
2008 70 | 535 530 80 | 730 [ 510

111. What is the spproximate average monthly income of A
ower the years?

1)Rs44,762 2IRs48.348 IR 531216
4} s 51,245 SIRs4Z 102
112, What is the mtio of the annesl inceme of B 1o that of C in
the year 20057
136:3 2)6:7 315:6
457:6 %) None of these

113, What is the difference between the total annual come
of all the individuals m the yvear 2003 and the total anniial
income of all the individuals in the vear 20077
[} BT, 3 5000 ) Rs 645400 3)Rs 6,530,500
4)1R=T7 43300 5) Mooe of these

114, The panaal meome af E m the year 2004 1s approximately
swhai per cent of the wverage annual income earinéd by B

over the years?
198 X186 J)E
4194 5191
115. What is the average annual income of F over the years?
13Rs4,16,000 23 Re4,25,000
3Rs 4,001,500 4)Rs4,15,500
5) None of these

116. Asha’s monthly income is 60% of Deepak’s monthly
income and 120% of Maya's monthly income. What is
Mayn's monthly income if Deepak's monthly income is

Rs 78,0007
)Rs39000  Z)Rs4Z0D0  3)Rs36,000
4) Cannot be detcrmined T} Mone of these

117. The sum of 5 numbers is 924. The avcrage of the first
wo aumbers is 200.5 and the averapge of the last twio
numbers is 196, What is the third number?

1)133 2)129 P12
4) Cannot be determined Sy None of thess
@ In how many differcat wayg can the leters of the word
‘FINANCE" be arranged
135040 212040 312510
44080 5) None of these

119. The profit carned afler selling o wrist watch for Bs 4,080
is the same as the loss incurred afier selling the same

wrisi walch for Rs 3,650, Wha is the cost price of the
wikst watch?

1)Rs 3,785 7)Rs 1,800

4)Rs 1,865 5) None of these
120 I the numerntor of a fraction is increased by 240% and

the denominator of the fraction is decreased by 5084, the

5
resulmnt fraction i3 ZE . What is the original fraction?

IR 3,775

ik 2 3
g 23 N3

5) None of these



LU LTS (A DEd-0 s SUEUY LR LRI WL P
carelolly and answer the gquestions below it
Number of students (males & females) passed out
from varioas eolleges in o year
(Number in thousands)

T PO e e T e

Nomber of stmdents
(im thousa nds)

121, What is the average aumber of students (Males &
Females) passed out from all the colleges topethes 7
1) 38000 2) 48000 1142000
4) 51000 5) None of these

122 The number of Females passed out from college C i
approximately what per cent of the total oumber of
Females passed out from all the colleges together?
1128 2) 30 EyRL
024 540

133, What is the difference between the total number of
students passing out from college A and the iotal number

of studenis passing oul from college E?
1} 20,500 2}21,000 310500
4] 10,000 5) None of these

L5, WY DIHA S EE FEpies il ARIS CUEHS ITLEEENOe il IEESEE IE e
total number of Females passed out from all the collepges
together?

1)19:23 21825
4)35:18 ) Mone of these

125. The number of Males passing out from colleges Aand B
wgether is what per cemt of the number of Females
passing out from colleges C and D ogesher ?

45 240 3)35 450  5)None of these
Directions (). 126-1300: What approximate value
should come in place of the guestion mark {7) inthe killowing

guestions T {Yop are not expected to calenlnte the cxact value,)
126 T428=Me= 12=T7

3)23:18

256 2251 T2 AT 5)266
127 15.2% 0f 725 = 1 2.8% ol 3 =7

D910 Z)9088 39100 4)9GHE  3) 9082
128 (361402 - (21 282 =7

)888  2)B53  3)846  4)8T1  5)865
129, Y760 x /378 =

1150 2) 180 5190 200 5)1%5
V13, 406+ 0.6 = 0;5=T

413 %S DIE D16 s

E |

BLMﬂMﬂfiﬁamhm.mhMﬂ%
of that mumber™

1) 130 7175 3)360
4)350 ) Nomo of these

132 The differ=nce between a two-digit-number and the
aumsber ottined by interchanging the two digits of the
number & 9. What & the differénce between the two

digits of the number?
1)3 2 31
4) Cannot be determined §) None of these

133, Inachss there are 32 boysand 28 girls. The average age of
the boys inthe ¢lass is 14 years and the average age of'the
girls imthe class is 13 years, What is the average age of the
whale elass? (Rounded ofTto two digits after decimal)
[¥13.50 21353 3¥12.51
41342 5) None of these

134. Iy atest consisting of 80 questions carrying one mark each,
Arpiia answers 65% of the first 40 questions correctly.
What per cent of the other 40 questions does she need to
answer correctly to seore 75% on the entire test?

160 2)80 N5
440 S) None of thess

135, Manisha invests an amount of Rs 39,300 for 4 years a
the rate of 4 pepa. What amount of approximate
compound interest will she obtain at the end of 4 years?
1Y Rs 6,675 2} Rs 6,650 1IHs 6288
4)Rs6,356 SIRs6450



LITECEIONS 107 I50=130)7 HINaY IRe 10I0WInE Tl s
earefolly and answer the questions given below (L
Price per kilogram (in Rs) at which 5 different farmers

sell 6 different prodocts
| Prod Farmers
F Q B 5

Rke | 20 | 15 | 205 [ 24

| Wheat | 18 16 15 15.5
Jovear 165 15 | 18 20 :
Bajra | 15 | 14 | 143 | 135 | 12

_Mape | 13 14 | 125 ] 12 | 1435

Sogarcane| 10 | 8 | ns | 05| @

136, What is the difference berween the average price of per
kg of Mnize sold by all the farmers and the average price
of per kg of Sugarcane sold by all the farmers?

1JRs3 2jRsd 5 3)Rsd2 4)Rs3.6 5) None of these
137, What is the ratio of the total price (per kg) of all the

M e

producrs sold by Q 1o that sold by R?
1341:43 2)43:48 1343 146
ajdl 48 5) None of these

138, If farmes Q sells 14 kg of Wheat, 21 kg of Jowar and 30
kgs of Suparcane, whae will be his total eaming?
1) Rs 659 2)Rs 7T 3)Rs 650
4) Ra TR8 5) None of these
139, If farmer P sells 50 kirs. of Rice and farmer S sefls 60 kg of
Wheat, what i the differénce in amount by either of the
farmers in selling their products?
1) Rs70 2YRs 63
4)Rs 85 5) None of these
140, 1f each farmer 2ells 100 kg of Jowar and 50 ky of Bajra,
‘which fiarmer will cam the mos?
e LR ) F- 4)0Q ST
Direciions (). 141-145): Study {he following gruph
caréfully and answer the questions given below i
Number of Students studying i Various Colleges from
Various Faculties (Namber in thousands)

3)Rs 30

BEAris ESclence W Commeres
= =
vl B - =
= 404 P =
.E 30 - = - =
20 4 = =
LT .
1} 1 L
H | ] K

Colleges
141, ‘What is the difference bebween the tofa) number ol students
studying in college H and that studyving in college K7
116100 2) 15800 1) L6300
4y 16700 5) Mone of these

LR, W MAT IS I6E RO TIKITNDET O STHACTIS SOAay Ing i &1l (e

colleges together?
1) 52000 2) 52000 3)610200
4 510800 §) None of these

143, What is the ratio of the students from the faculty of
Science from colleges H and | together (o the students
from: the same faculty from celleges J and K together?
1343 .45 241 43 Nd5:43
4143 :41 5) Mone of these

144, The numbser of studenis from the faculty of Science from
college [ is approximabely what per cent of the woaal
mimber of stdents swudying in that callege?

1334 N nx 4331 5o

145. What is the averags number of students from the faculey
of Commerce from all the colleges together?
1)36825 Z)3B655 335625
4) 36585 5) Mone of these

146, 12 children can complete & piece of work in 21 days.
Approximately, how many children will be required
compleie the same piece of work in 13 days?

1)24 N4 322 fi7 5)20

147, Mangesh spends | 7% of bis moathly income on
travelling. He spends 25% of his monthly income on
household expenses and 36% ol his menthly income on
medical expenses. He has remaining amount of Rs 10,032
as cash with him, 'What is Manpgesh's annual income?
DRs330300 2)Re536.500  3)YRa547200
4) Cannot be desermined 5) None of these

148, The product of two consecutive even numbers is J248.
Which is the larger number?

158 62 )56 460 5) None of these
|49, The average marks of 63 students in & class was
calculated as 1 50. It was lnter realised that the marks of
one of the students was caleulated as 142, whereas his
aciual marks was 152, What is the actual average marks
of the group of 65 students? (Rounded off o two digits
after deckmal)
15123 215013
4315019 5) Mone of these

150 The sump of five consecaiive odd numbers s 575. What
is the sum of the next set of the consecutive odd
numbers? :
16Ls 2635
4) Cannet be determined

315110

Ji535
51 None of these

Test-IV: Reasoning

151. In & certain code DESPAIR i3 written 83 TFEQSIB. How

is MUMERAL written in that code?
NOVNFMBS  2NVOFSEM HNVOMFES
41 HVOFMES 5) Mone of these

152, If it is possible to make oaly one meaningful word with
the first, second, sixth and enth letters of the word
DISCLATMER, which of the fallowing will be the third



e made, pive "Y' &5 the answer.
1} NR HD Hx 5Y
153, How many such digits are there in the number 27561493
each of which is as far away from the beginning of the
number as when the digits are arranged in descending
order within the number?
1)None 210ne  3)Two  4) Three 5) More than three
154, Ifvellow” iscalled "ned”, ‘red” oalled ‘blue’, ‘Do’ is called
“white", “white" is called ‘black’, “black” iscalled *green”,
and *green’ is called "violet', what isthe colour ofclear sk
13 Green 2) Violet 3) Yellow d)Red 5) None of these
155, It was 9.35 am in Rakhi's watch, which kept comect time,
when Reena mformed her that the last bus left the bus
stop &t 9.25 am. Reena’s watch is 5 minutes fast. The

frequency of the bus is every 20 minutes. For how long

must Rakhi wait to catch the next bus?
1} 5 minuies ) 10 minites 3} 15 minutes
4)25 minutes  5) None of these
136, Which of the following should come next in the given
seguence of numbers?
243243124312343133243121
12 3 A4 4)5 5)Mone of these
157. How many meaningfol English words cun be formed with
the letters EDOM, using each letter only once in each
word?
IyNone 2)0ne  3)Two 4) Three 5) More than three
138. Four of the following five ane alike in  certain way and
50 form a group, Which is the one that does not belong

to that group?
I ) Mephew 2) Cousin 3) Mother
4) Brother 5) Sister

153 Howmany pairsof fetiers are fere in the word SECURITY
each ofwhich kas as moay alphabets betvween them es there
are in the English alphabetical series?
1YNone 2)Two 3) Three 4) Four 5) More than fous

160, Ina certain code STAR is writien as $5%2 and TORE is
writfen & 3326, How 15 OATS written i that code?
133%55 2 InE3 3)IEN5
4)35%5 §) None of these
Direetions (). 151-145): In each of the questions below

are given four statements followed by four conclusions

mmmbered L [L T and [V, You have to take the plven statemenits

o e true even if they seem (0 be at variance with commonly

kmown [acts. Head all the conclusions and then decide which

of ithe given conclosions lagieally follows from ihe given
statements duregarding commonly known facts.

6l Statements: Some doctors are lawyers,

All teachers are lowyers,

Some engineers are lawyers.

All engincers are busincssmen.
Conclusions: 1. Some teachers are doctors.

I Some businessmen are lawyers.

I[L. Some businessmen are ieachers.

4) Omly [l and I'V follow 57 Mone of these
162, Simtements: All plastics are glasses.
Some sponges are glasses
All sponges are clothes.
All clothes are liquids.
Conclusions: L. All Hguids aré sponges.
IL Some plastics are clothes.
L All glasses are plastics,
¥ Al liguids are clothes.

1) Nons follows 2) Only either Il or IV follows
3) Oaly IV follows 4) Only 11l and IV follow
5) Mone of these

163, Sintements: All sands are beaches.
. All shores are beaches,
Some beaches are tees.
All trees are hotels,
Conclusions: L. Some shores are hotels,
IL  All beaches are shores,
ML Some beaches are hotels.
IV, Some sands are trees.
1y Mone follows 2} Omly 11 Follows.
3) Only either I or I11 follows 4) Only IV follows
5) Mone of these
164, Statements: All parrods arc pigeons,
Some crows are pigeons.
Some sparrows ane crows.
All sparrows ane koels.
Conclosionsz 1. Some koels are crows.
IL  Some parrors are crows,
M Mo crow is & parmot.
10nly I follows 23 Only TN fiolbows
3)Ondy 1and either Il or [V follow
4 Omnly edther | or 111 follows
165 Statements: All chairs are tables.
All tables are cushions.
Some cushions are trolieys.
All irolleys are lamps,
Conclusiens: L. Some lamps are tables.
IL Some trolleys are chairs.
0L Some cushions are lamps.
V. All chairs are cushions,
1) Only | fiollows 2) Only [l and IV follow
3) Only eithes T or Il follovws.  2) All follow
5) None of these
Dircctions (. 166-170): Study the following information
carefully and answer the given questions:
A, B, C, D, E, F,Gand H are sight friends sitting around
A circular table facing the centre. A gits second to the laft of
D, wha is third 1o the left of E. C sits third 10 the right of G
who is not an immediate neighbour of E. H sits third to the
right of B, who sits second to the nght of G
166, Whe sits between D and C?

5) Mone of these



167. Whe sits second io the right of E?

1B F 3)G 4)C  5¥Noneofthess
168, Whal {8 the position of A with respact 1o H?

1) Third to the left 2 Third 1o the right

3) Second to the left #rSecond to the right

5) Fonarth to the left

143, Foar of the following five arc alike based upon their
seafing arrangernents and so form a group. Which (s the
ape that does mot belong 1o that group?

CH 2FG DA HBE 5GB

170, Which of the following pairs has the second persen
sitting to the immediaie lefi of the first person?

NDB EH 3HFA  HGD ore of these

Directions (0. 171-175) These questions ire based on
the following letter/nember/symbal arrangement. Stady it
carefully and answer the questions.

BEBIOEKT%SAISGD9AURCSH@I]

171 How may such numbers are there in the above
arrangement 2ach of which is immediately preceded by a
consonan: end alsa followed by o symbol?

I)Nane 2)One  3)Two  4) Three 5) More than thres

IT2 Which ofithe following should replace the quession mark
in the following series based on the ehove amrangement?
2EK, %Al GO, 7
16l Z)UCS 3*CH
A4) *ebi 5) Mone of these

173 Which of the following is the fifth to the |eft of the seven-
teenih from the left end of the arrongemient?

s G 3NA 4D 5)Nopeofthese

174, If all the narmbers are deleted from the above mei,
which of the following will be the rwelfth fron: the right
end?

% 2K 3%  4)C  5)None of these

175. How many such symbols are there in the above
arrangement each of which is immediately preceded by a.

Directions (176-180): Read the following information
carciolly and ansvwer the guestiond, which Follaw &

P+ " means "P iz son of G,

P = Q" means "P is sister of Q°,

P+ Q" means *P 15 broiher of Q.

P~ means P is mother of Q'
176, How is T related w0 S inthe expression *T =R+ V + §'7

Ly Sister 21 Mother 3} Aunt
4) Uincle 5) Mone of these

IT7. How i T related to 5 in the expression "T =R+ WV -5
1) Father ) Sister 1) Daughter
4§ Auni 5) Mone of thesa

178. How is S related to T in the expression 'T+ R—V + 57
1) Uncle 2) Mephew 3) Son
&) Cannot be determined §) Mone of these

179, Which ofthe following means thet 'S isithe husband of T*?
DTeR-V+8 DT-R+Vx8 IJNT-R+V+8§
HAT+R=Y+5 5) None of these

180, How s V related o T in the expression ‘T+ R+ V = 5'7
1) Aunt 2y Ncphew 3) Niece
4) Uncle 5) None of these
Direcitions (Q. 181-185): Ench of the questions below

consists of a question and two statements numbered [ and 11

are given below it. You haveé to decide whether the data

provided in the statements are sufficient to answer the
question. Resd both the sterements and

Give answer |} if ibe data in Siatement | alone are
sufficient 1o answer the guestion, while
the datn in Statement 11 alone are not
suilicient to answer the question.

Give answer 2) if the data in Statement 11 alone are
sufficient 1o answer the quesiion, while
the data in Statement | zloné are not
suflicient to answer the question.

Give answer 3) if the data in Statement | alone or in
Staternent 11 alone are sufficient to answer
the question,

Give answer 4) if the data in bath the Statements [and 11
even waether are not sufficient to answer
the question, '

Give answver 5) 1f the data in both the Statements | and 11
together are necessary 1o answer the
duestion.

L8], How s A related to BY
L A is the sister-in-law of C, who is the daughter-in-

law of B, who is the wife of D.

L B is the mother of A's son's oaly uncle's san.

2. Amongst A, B, C, D, Eand F, cach arc having a different
height. Who is the shorfest?

L Cisshorter than only B.

IL A s talier than only Dand F

13, Point X is in which direction with respect to Y'?

L PoiniZ 5=t equal distance from both point X and



L e i L L L]

esch fumn leads to point Y.
184. How is “miist’ written in a code language?

L ‘you must ses” is written as “la pa ni’ and *did you

see” is written as “jo ni pa” in that code language,

I ‘you did ihai' is written as ‘pa s1 jo’ i that code

lenguage.
|85, On which day of the week does Anti's birthday fall?

L Sonu correcily remembers thai Arti's birthday falls

after Wednesday but before Sunday.

0. Raj correctly remembers that Arti's birthday falls

before Frideay but after Tuesday.

Directions (. 186-190): Below in each question are
given two statements [ and I These statements may beeither
independent causes or may be effects of indepeadent causes
OF @ eommaon cause, One of these statements may be the
effect of the other statement. Read both the sintements and
decide which of the following answer choices eorrectly
mhmmmmmmm

Mark anewer 1) [l natement | s the cause and statement

I is s effect.
Mark enswer 2 if statement I1 i the canse and starement
I is its effect.
Mark answer 3} if both the statements [ and I are
d causes,

Mark answer 4 if both the staferments | and 11 are effects

af independent causes,

Mark answer 5} if both the statements T and i1 arc < fTects

of some common carse
Computer education has been made compulsory for
al! the classes by many schools.
Il The current job market prefers computer-literate
work force.
The standard of education in evening colléges of
the Sute has been deteriorating.
I The standard of school education has been fast
deteriorating in the State.
All domestic arrfines ircreased the fases in all sectors
with immedsate effect
IL Raitways increased the fare of all its classes with
immecdinte effect,
The prices of fruits and vegetables fell substantially
over the last few days.
IL The quality of fruits and wegetables improved
considerably over the lust few days.
Reeent floods in the area changed the nuoriilions)
conitents of the soil.

IL Farmiers inthe arca switched over to cultivating rice

instead of wheat.

Dhirectsons (). 191-195): In the following questions,
the symbals £, 5, %, % and @ are used with the following
meanlng o Mustrated below :

'A # B means *A iz not greater than B,

TERAEER N W AL WA

BB L

I8T. L

188 1L

159 L

190 L

“A @ B'mmm"ﬂ.ismtsm;lﬂﬂnnﬂ'. 3

Now in each of the fallowing questions, assuming the
given satements to be true, find which of the two conclusions
[ and 11 given below them is/are definitely true and give your
aaswers accordingly.

Mark answer 1) if only conclusion | is tue.

Mark answer 2) if only conclusion LI is true.

Mark answer 3) if efther conclusion [ or 11 is trae.

Inrk answer 4) if neither comclusion 1 mar 11 1S rss.

Mack answer 5) il both conclusions T and 11 are troe.
191 Statements: A#B, B%C, C*D

Conclusions: 1. C @A ILAZD
192, Statemenis: PS0), Q@5 S5%R

Conelusions: L. P (@ R ILRSQ
193, Statements: W X, X&Y, YSZ
Conclusions: L W & 7 W@z
194, Statements: G@H, HSEJL J%K
Conchasions; L K & G ILixG
195, Statements: N @M, MSISF  PHT
Conclusions: LTH#N ILPa™

Directions (). 196-204): Study the following information
carefully and answer the given questions.

A B, C, D, E Faond G are seven friends stadying seven
different branches of engineering, namely Mechanical,
Chemical, Electrical, Electronics, Civil, Computer and
Aeronautical Engineening, fot necessarily in this order, Bach
of them studies in three different colleges, X, ¥ and Z. Not
fess than two study in any college. D studies Electrieal
enzingering in College X. The one who studies Chemical
Epngineering does not study in callege Z. F studies
Aeronautical Engineering in college Y with only B. A does
not study in colicge X and docs not study Civil Engineering.
E siudies Computer Engineering and does not siudy in
college X. G studies Electronics Engmeering but ot m college
X Mone in college X srudies Mechanical or Civil Engincering.
196. Which of the following groups represents the persons

studying in college 7

1)D,B HCEG

HGEA 5) Mone of these
197. In which of the following colleges does C smdy?

X Y Nz

4) Either X orZ  5) Cannot be determined
198. Wihich of the following combinations is correct?

1 A-Civil-Z 23 B-Chemical-Y

1) CChemical-Z &) (i =Electronics -y

§) Mone of these
199, B studies which of the following branches of engincering?

1) Chemical 2) Mechanical  3)Ciwil

4) Cannot be determined 5) Nane of these
200. Who studies Chemical engineering?

18 HC HE

d' A 1 Wirmie of these

NA,G
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16 2; As per recend-regosi 2008, aboul #1% 102 4 Sam = 34504 129. X; Lot the: fiaction be xiy

of all wurkforce in ndia i engaged in imfor. | pa3. 4 104 1 108, 3 | Then

il of uBrgAndscd sector 106. 5; The series is T RS

it 4 : Wl w10, K210, w3+10, «4-J0, =5+10 _lop 17

16. 3; Swnll Scale Indusiries conbribale | j30 =4 . i0= 530 . id= 310 Fug L

mearly 0% shasd i b Wotal ndiortriad ous- | 107, 1: The serles o1 +2 +1 | 2

jul and 35% share in ootal exports of Indsa 17 11 - |
L LY .

21 Hi 1) N - WG S W Y e I e ¥ 12

M1 M1 w3 M2 A3 ] . -

29,3 M4 M3 323 M2 | e PSR e - ... D5 L

Bl M0 33 IS MS | pen. s Thesenes s ol 5 8

W4 0.4 41 ars a3 | .3 .27, 824 3%

M3 455 464 4.3 44 | a-43a7 122 7 Reqd 8 =gz io0

9.2 50.5 110, 4; The series is ' :

&1, 2; The lasz semence 1ulks of “social dis- LIRS

solution”. L LSS L [ el

52, 4; Hefore mentioning e fosk for most

Gt is had Enough”, the Suthor ks abous | 303+ =302+36-338 g piade

low e society ia slow in its transforme. | 111 4; Towl income of A = 43,3 lakh m.:%.%
Haon 03 | 3
53. |; The sanher caudioss s baw ous 2zal wjmmiﬂn-m-hllﬂ? lﬂ.l;%ﬂﬂﬂ'-ﬂ

for transfermation should sol blind us to
the realitics thil exisL

a5 3
4. 4, lﬁn; are ‘what one presshes. Ta &3 ‘Eﬁ';'k‘ 16, 3: -:.'::_.u-jﬂ:
. g i prociiss ilsem, s
!?-;g{'l'hm says: "I s nol one, buk Eli"lﬁmi = 30.2) lakhs | 177.8
many gencrations, Each of the sewen nges : | 1282 5743 « 14.86
of man is wmh all the res ® jid, 4 ] x D00 T = S
%6, 3: Read the second semtence of e third | " 4TEID a2 b2 = (0 4 i n - b
m‘ - » ™
57, 3; The sy thit : crig 15 5 T:H“'H-}H""”m -_!'.'F—n 4= 4= 14+ 8K <57 o351
“in & cerain fead of Suppoied Tiimcds™ amd g 139, 4; Y760 w8

ghen reinses the fitness 1o *satisiying meed®, 1, 1) Maya's mnnghly Enoom

8K, 5: I sometbing euny dowm, i loses power. @ 100 e
A R i
&I, 5. | something i knocked wp, it iz pre- e 2 130, |

ickly and withoui any special care, LIS, 5 M i mepealed wige,
ﬂ;ﬁm’mmﬂfﬁm Hence the required smswer will be | gy o 2222xI0E g
bods, you LERSREE s ownerihip 10 them, 2x3wIndud
2. 2, Example: His charm decsstwarkqnme. e
63 5
64, 3; Substitoie omer for daills,
65, 1; Substitite af
66 7; Substinme wha
67, 3; Delete Jo mor.
%, ¥, Substiluic is.
&9, 4, Subitinste omé another
T, 4; Sobstirate faeaur |
TL 3 Ewbmisute when |
T, 1 Swbstituie was
78, 4, Subsiitoie fluent,
T4, |; Substilule wos mifempfing.
-5
V%! T2 M M1 Ml
Bl 4 8.4 ®L3 B S BE. 4
A%, &: There are rwo woong ussges: in (1)
the word several b misspell. and in (3} as-
- Bgnled dhoul be the Appeopriste wond,
7. I; imdgfarigable 84 1; slipped
ED. 1: laugher M. 4, esurgl
] LY
B

Hote 1 The Information Prowvided he



Wte : "The Information Provided her= @

Bondt beachid and shodcd (1) Hence I does
mol follow All sands sre beaches + Spme
beaches mme trees = A v [ = Mo conglusion,
Hence IV doss noi follow.

L. 3, Seom Sparntravs Ang CTanss + DOME ¢ Pl
Ee pigeong = | + | = Mo comclusban. Hesoo
[l does not fullow. Seene erows are pigesans
{13 —» comversion -» Some pigeons are coes
(1) Now, All pariols 506 pigeons + Some pe-
genms afe crows = A+ | = No conclusion
Hemee Il does noe follow. Mor doss 1V Tollew.
However, conversion of Il Forms an 1-E
complementary pas with IV, Hence aitber 11
or W fpllcas. Soms sparrovs kre crows 1)
—h SONVErEion — Some Srows are snamiws =
All aparrows are ket = 1 + A = | = Some
CIOWE M0 KDiks — CORVrEos —= Some kKogli
are oo (1), Hence |

165, X Soms cshisns are trnileys — Al trol-
leys e lamps =1 + A= | = Some suzhions are
lamipa. Hence 11 Buligs. Adl chairs ane (abies
+ All iables are cushions = A » A = A = All
chairs ane cushions. Hence IV follows. All
tabdes are cushions + Some cushieons & lamps
= 4+ | = Mo conclusion, Hemee | docs not
follow. All cheirs are cushions + Some cmsh-

ioms me rofleys = A& + 1 = Mo conclasion.

Henee E does nod follow,
L&6-1T0;

PEs. 1| 167.2 18N 4

168, 3; In all wihers, ibe 2scond persom is
seoond (o the righe of the firgk

1m. s I 33 omd 7

172 1; The corresponding elemneni mwoves
five places foreand in the subsegeest goup,

173, &, Sth o the lef of 1%th from the Gefy |

= (17 - F =) 12k freen ibe fefi = |

174, 2; IF all the numbéers are delefed, the
ATangemant bigomes
inﬁEEh#!GDH*ﬂLl@I
1754, ¥, © and §

176, 5;

g
TH—R{"]'—‘!'i-h
Hemee T is the daughier of 5
1T %
Vi)

Tp—Ri*) &
178, &;

i

'
Vi+=—4

& s either the nephaw or nsece of T.

178 3

T} =—=RL-}

Wisl—s

(1) (z) i
% is nephew or neece of T, Absard relaizonship.

Ti-p=3(1)

Rofs)=—Yi5}
o)
S is hushasd of T.

W need il g0 Further
iga, |

R )—bi— 8

T+

Hange ¥ &8 the auntal T.

185 5, From I: A s o female.

Unlmy fhis Im O0, we geiz

= medher o A's son's paly usele’s som

= mother of A's san's cousion

= mother of A's Brotherendav's wifz

182, 4. Statement | gives us the twa tallent
persons. Fence it is ot sufficiens, _
From [, edtber Do F s the shomess Henee 11
i% alses mot sufMiciont.

(83 3; Srmtement | |5 of ne use bepase wedon't
kevow the direstions,

Simiement 0 is s (Ticient beconse 4istances gnd

direciions have bees piven properly

[&d. |\ Statement 12

you st see = dn N i
did you see = jo ni pa et (1)
Fraim (1) and (il youl g6 = pa fii

Wi (8 b (i), we get it = la
Hemes T aloms o palficient

Huzan {1 |3 oot gven remeely coanecicd wilk
must’,

185 5; From T: Ani's bisisdey fulls o0 Thu, Fro
ar Sl

From I ¥ falls on St Sum or Mon

- il

- i — |
b |

alson in detarmanin g he ConfRedufih OF 80011,
1ET. 5, Thene se6ms 1o e 50emE ¢omenon Clas
gl ks lenlim g o detericracion in hoth kinds of
edlueation.

1B8. §: Hike in foed prices seems 10 be the esm-
mes SEuge

L8R, 4: The rwe elTeets are anrslmed

i, [ The farmers decision is eppasently an
effeet of change bn the sail

100 1 ASE ik B =0 (i) O D (i)
Combining these wo gt A<B=C <Dy
Hence C = a mnd T fisklows.

Heut, A = Dand hence [ A = D) doss aot fol-
low.

93, 4: P00z . fiiy:S=R_. (i)
Coenbiaing these, weget P> Qes=R
Hemes P = Roand (P2 B doed non fallew,
Alg, B 50 wnd I (R > Q) doci st Tollow.
WA WEK _(GLXEY . (i) Y= (i)
Cob g these, we gel W < XY > Z. Honoe W
wnd E can’t be compared. Bur either | (W = Z)
or I (%W 2 Z) must Tollow ps they form a
epmplemeniany pair.

1905 G H . (L H>T . f#): T =K . (i)
Combining these, weget G2 Hx 1=K
Henge K= 0 and § follows,

Alsg, ] < Gand [l follaws.

195 2 NaM,_ (M P GEPET . (i)
From (i) and (i} M =M >PoarM =P v}
Hemez: P < W and 11 follows.

Froes (iid) and (), Howsenver, T sndi M ons't be
compared,

Homee | does mot fiollow.

195-200:
Fremd | Coliege | Dranch
A z bviechamizal
B ¥ ca
- % Chemizal
n X Ehecmca!
B ' - Compurr
F ¥ Acuraial
G P

196.4 97,0 i9H.4 1901 203
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